P(x) % 2 I220WTOEAEL L, P@)P(—z) = P@@?) &z ZOVWTOHEEATH
595,
(1) P(O)=0%7Z P(0)=1Th>dZ Lazmrt.
(2) P(x) Dz —1TEOYNRNR S, Pr)—11das+1 THOEND Z & Z2RE.
(3) WEH2 THB P(x) 2 F_RTRD k.
(23 dbifEER 3 1)

P(z)P(-x) = P(2®) - (%)
1) (x) IZBVWTz=0&8LL
P(0)P(0) = P(0)
PO){P(0)—1} =0

PO)=0F7ZFEPO)=1 e (éﬁﬁﬂﬁ%b D)
TH5.
(2) P(z) Bz — 1 THOGPNRNI & LD
P(1)=0

ThbH. (x)IZBWVWTaoz=1&ELL
P()P(-1) = P(1)
POP(1) =1} =0 - @
P(-1)—1=0 (- P(1)%0)
RO D. &oT, Plz)—1lkz+1THYEYNE. e (FEMI#D D)
(3) IREMP 2 THBHER P(x) %
P(z) = az® + bz + ¢ (a % 0)
ERT. (x) ITBWT, WADAROEEELKT 5L

> =a sooala—1)=0

soa=1 (- ax0)

7z, (1) &b

c=0FkiFc=1
P(z)=2°+bx £721% P(z) =2° + bz + 1
ThHEIENBETHS.
5L, &b
P1)=0F~&IF P(-1)=1 - ©)

TH5.

(i) P(z) =22 +bz D2 E, @ &
1+b=0F7F1-0=1
b=—-1%F7%Eb=0

Plx)=z"—2 £/ P(z) =2



(i) Pla)=2>+bzx+10D2 %, @&
1+4b+1=0F%&F1-b+1=1
b=-2%F7%lFb=1
Px)=2"-2c4+1£7E P@)=2"+z+1
buiAd
Plz)=2* -2 DL &
P(z)P(—z) = (2° — 2)(z® + z) = 2" — 2® = P(2°)
Plx)=2* DL %
P(z)P(—z) = z* - 2° = 2* = P(z°)
Plz)=2>-2z+1=(z—-1)>DL &
P(z)P(—z) = (z — 1)*(—z — 1)* = (2 = 1)* = P(z”)
Plx)=a2’+2+10D&E
P(x)P(—z) = (2®+a+1)(2® —2+1) = (2*+1)° -2 = 2* + 2> +1 = P(z?)
Thh, Enb (x) Zhrzd.
£oT, KB 2MDEK P(z) 1&
z?, 22—z, 2*—2¢+4+1, 2*4+z+1 e )
TH5.

o MR Y UTHRELEL TH &0,
WE 2 THBBR P(z) %

P(z) = az® + bz + ¢ (a % 0)
LB L, (x) 0T
(az® 4 bz + ¢)(az® — bz + ¢) = (az® + ¢)® — b*z?
=d’z" + (2ac — b*)z® + ¢

THdNH
(%) <= a’z* 4+ 2ac —b*)2* + P =az* + b +c¢ o (+%)
THD. (xx) Bz IZD2VWTOEFERNTH 55041
a®=a a(a — 1) =0 @ e @)
2ac—b>=b <= (2ac—b>=b e @
c=c cle—1)=0 o ®

ax0h2@, @ &b
(a, ¢)=(1, 0), (1, 1)
Thb.
(i) (a, 0)=(1, 0) D& Z
@ <= b’+b=0
b=0, —1
(i) (@, 0)=(1, 1) D& &
@ <= b’+b-2=0
b+2)(b-1)=0 Soob=-2,1
UELD, kDD 2XOERX P(2) 1
a:2, xQ—x, x2—2x+1, 2 +r+1
Thb.



